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SERVICE – 05/10/2023 

 
1. Amazon forest is the largest rain forest in the world. It is known as  

a. Heart of the planet  b. Eyes of the planet  c. Lungs of the planet 
d. Brain of the planet  e. Answer not known 
mNkrhd fhL cyfpd; kpfg; nghpa kiof;fhL MFk;. ,jid ____ vd;W $Wth;. 
a. G+kpapd; ,jak; vdg;gLfpwJ   b. G+kpapd; fz;fs; vdg;gLfpwJ 
c. G+kpapd; EiuaPuy; vdg;gLfpwJ   d. G+kpapd; %is vdg;gLfpwJ 
e. tpil njhpatpy;iy 
 

2. William Beaumont was a surgeon who was known as 
a. Father of Neuro Surgery    b. Father of Gastric Physiology 
c. Father of Heart Surgery    d. Father of Nephrology 
e. Answer not known 
tpy;ypak; gpA+khd;l; vd;ghh; Xh; mWit rpfpr;ir kUj;Jtuhth;. ,th; ____ vd;W 
mwpag;gLthh;. 
a. euk;G mWit rpfpr;irapd; je;ijahthh; 
b. ,ug;igrhh; clw; nraypaypd; je;ij 
c. ,ja mWit rpfpr;irapd; je;ijahthh; 
d. fopT ePf;f cWg;G mWit rpfpr;irapd; je;ijahthh; 
e. tpil njhpatpy;iy 
 

3. Glycolysis takes place in 
a. Chloroplast   b. Mitochondria  c. Cytoplasm 
d. Ribosome    e. Answer not known 
fpisf;fhyp]p]; eilngWk; ,lk; 
a. gRq;fzpfk;   b. ikl;Nlhfhz;bhpah c. irl;Nlhgpshrk; 
d. iuNghNrhk;   e. tpil njhpatpy;iy 
 

4. Assertion [A]: Bryophytic plants are prevent soil erosion. Economically Sphagnam 
    is more valuable. 
Reason [R]:  Sphagnam can absorb large amount of water, hence it is used by the 
    gardeners in nursery. Peat is a valuable fuel like coal is obtained 
    from Sphagnam. 
a. [A] is true but [R] is false 
b. [A] is false, [R] is true 
c. Both [A] and [R] are true and [R] is the correct explanation of [A] 
d. Both [A] and [R] are true, but [R] is not the correct explanation of [A] 
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e. Answer not known 
$w;W [A]: gpiuNahigl; jhtuq;fs; kz; mhpg;igj; jLf;fpwJ. ];Ngf;dk; mjpf 
   nghUshjhu kjpg;Gilait 
fhuzk; [R]: ];Ngf;dk; mjpf ePiu cwpQ;rf;$baJ vdNt gz;iz ehw;whq;fhy;fspy; 

gad;gLj;jg;gLfpwJ. gPl; vd;w epyf;fhpiag; Nghd;w tpiy kjpg;Gila 
vhpnghUs; ];Ngf;dj;jpypUe;J. 

a. $w;W [A] rhpahdit> Mdhy; fhuzk; [R] jtW 
b. $w;W [A] jtW> Mdhy; fhuzk; [R] rhp 
c. $w;W [A], fhuzk; [R] ,uz;Lk; rhpahdit> fhuzk; [R] $w;W [A] f;F rhpahd tpsf;fk; 
d. $w;W [A]> fhuzk; [R] ,uz;Lk; rhpahdit> Mdhy; fhuzk; [R] $w;W [A] f;F rhpahd 

tpsf;fky;y 
e. tpil njhpatpy;iy 
 

5. _____ is the only non-metal that is liquid at room temperature. 
a. Mercury   b. Bromine   c. Gallium 
d. Sulphur   e. Answer not known 
miw ntg;gepiyapy;> jput epiyapy; fhzg;gLk; xNu mNyhfk; ______ MFk;. 
a. nkh;Fhp   b. GNuhkpd;   c. fhypak; 
d. ry;gh;   e. tpil njhpatpy;iy 
 

6. Potash alum is a mixture of 
a. Potassium sulphate and copper sulphate 
b. Potassium sulphate and aluminium sulphate 
c. Potassium sulphate and potassium chloride 
d. Potassium chloride and aluminium sulphate 
e. Answer not known 
nghl;lh~; gbfhuk; vd;gJ _____ fye;j fyitahFk;. 
a. nghl;lhrpak; ry;Ngl; kw;Wk; fhg;gh; ry;Ngl; 
b. nghl;lhrpak; ry;Ngl; kw;Wk; mYkpdpak; ry;Ngl; 
c. nghl;lhrpak; ry;Ngl; kw;Wk; nghl;lhrpak; FNshiuL 
d. nghl;lhrpak; FNshiuL kw;Wk; mYkpdpak; ry;Ngl; 
e. tpil njhpatpy;iy 
 

7. NPK stands for 
a. Nitrogen, Potassium, Phosphorous  b. Nitrogen, Phosphorus, Potassium 
c. Neon, Potassium, Phosphorous   d. Neon, Phosphorus, Potassium 
e. Answer not known 
NPK vd;gJ  
a. iel;u[d;> nghl;lhrpak;> gh];gu];  b. iel;u[d;> gh];gu];> nghl;lhrpak; 
c. epahd;> nghl;lhrpak;> gh];gu];   d. epahd;> gh];gu];> nghl;lhrpak; 
e. tpil njhpatpy;iy 
 

8. ‘Ceres’ is a/an 
a. meteor    b. star    c. planet 
d. Asteroid    e. Answer not known 
nru]; (Ceres) vd;gJ xU 
a. vhpfy; (m) tpz;fy;  b. tpz;kPd;   c. Nfhs; 
d. rpW Nfhs; (m];luha;L)  e. tpil njhpatpy;iy 
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9. The mass of a body is measured on Earth as M kg. When it is taken to a planet of radius 
half that of the earth, then its value will be ____ kg. 

a. 4 M  b. 2 M  c. 1 M  d. 
4

M
  e. Answer not known 

Gtpapy; M epiw nfhz;l nghUs; xd;W Gtpapd; Muj;jpy; ghjp msT Muk; nfhz;l 
Nfhs; xd;wpw;F vLj;Jr; nry;yg;gLfpwJ. mq;F mjd; epiw kjpg;G 

a. 4 M  b. 2 M  c. 1 M  d. 
4

M
  e. tpil njhpatpy;iy 

 
10. Match the following. 

A. Static friction    1. Viscosity 
B. Kinetic friction    2. Least friction 
C. Rolling friction     3. Objects are in motion 
D. Friction between the liquid layers 4. Objects are at rest 
 A B C D 
a. 4 3 2 1 
b. 2 1 4 3 
c. 4 1 3 2 
d. 3 4 1 2 
e. Answer not known 
gpd;tUtdtw;iw nghUj;Jf. 
A. epiy cuha;T     1. ghfpay; gz;G 
B. ,af;f cuha;T     2. kpff; Fiwe;j cuha;T 
C. cUSk; cuha;T     3. nghUs;fs; ,af;fj;jpy; cs;sd 

D. jput mLf;FfSf;F ,ilNaahd cuha;T 4. nghUs;fs; Xa;T epiyapy; cs;sd 
 A B C D 
a. 4 3 2 1 
b. 2 1 4 3 
c. 4 1 3 2 
d. 3 4 1 2 
e. tpil njhpatpy;iy 
 

11. The first World Expo organised at ____ in the year _____ 
a. London, 1851   b. Paris, 1862   c. Barcelona, 1888 
d. New Delhi, 1980   e. Answer not known 
Kjy; cyfg; nghUl;fhl;rp eilngw;w ,lk; ____ kw;Wk; Mz;L ____. 
a. yz;ld;> 1851   b. ghhp];> 1862  c. ghh;rpNyhdh> 1888 
d. GJnly;yp> 1980   e. tpil njhpatpy;iy 
 

12. In the year 2022, which country was involved in the Ukraine war? 
a. Germany    b. U.S.A   c. Iran 
d. Russia    e. Answer not known 
2022 Mk; Mz;by;> ve;j ehL cf;iud; Nghhpy; <Lgl;lJ? 
a. n[h;kdp    b. mnkhpf;fh   c. <uhd; 
d. u~;ah    e. tpil njhpatpy;iy 
 

13. Which of the following pairs are correctly matched? 
A. National Youth Day - 12th January 
B. National Girl Child Day - 24th January 
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C. National Voters Day - 25th January 
D. Pravasi Bharatiya Divas - 9th January 
a. (A) and (B)    b. (B), (C) and (D)  c. (A), (C) and (D) 
d. (A), (B), (C) and (D)  e. Answer not known 
fPNo fhzg;gLgitfspy; rhpahf nghUj;jg;gl;Ls;s N[hb vJ/vit? 
A. Njrpa ,isQh; jpdk;   - 12> [dthp 
B. Njrpa ngz; Foe;ijfs; jpdk; - 24> [dthp 
C. Njrpa thf;fhsh; jpdk;   - 25> [dthp 
D. gputhrp ghujpa jpt];   - 9> [dthp 
a. (A) kw;Wk; (B)   b. (B), (C) kw;Wk; (D)  c. (A), (C) kw;Wk; (D) 
d. (A), (B), (C) kw;Wk; (D)  e. tpil njhpatpy;iy 
 

14. Well known candy, ‘Kovilpatti Kadalai Mittai” produced in Tamilnadu was given The 
Geographical Indication (GI) tag. This candy is manufactured in which district of 
Tamilnadu? 
a. Salem district   b. Tenkasi district  c. Thoothukudi district 
d. Sivagangai district  e. Answer not known 
jkpo;ehl;by; ed;F mwpag;gl;l kpl;lha; Nfhtpy;gl;b fliy kpl;lha;f;F Gtprhh; FwpaPL 
nfhLf;fg;gl;Ls;sJ. ,e;j kpl;lha; jkpo;ehl;bd; ve;j khtl;lj;jpy; cw;gj;jp 
nra;ag;gLfpwJ? 
a. Nryk; khtl;lk;   b. njd;fhrp khtl;lk; c. J}j;Jf;Fb khtl;lk; 
d. rptfq;if khtl;lk;  e. tpil njhpatpy;iy 
 

15. The 44th chess Olympiad was held at Chennai ____ 2022. 
a. from July 28 to August 10    b. from July 15 to August 7 
c. from August 15 to September 7    d. from July 10 to August 18 
e. Answer not known 
44tJ rJuq;f xypk;gpahl; nrd;idapy; _____ 2022,y; ele;jJ. 
a. [_iy 28ypUe;J Mf];l; 10 tiu  b. [_iy 15ypUe;J Mf];l; 7 tiu 
c. Mf];l; 15ypUe;J nrg;lk;gh; 7 tiu  d. [_iy 10ypUe;J Mf];l; 18 tiu 

e. tpil njhpatpy;iy 
  

16. The government of India announced to establish a new central university in  
(1) Ladakh 
(2) Leh 
(3) Daman 
a. (1) only    b. (2) only   c. (3) only 
d. (1) and (2)    e. Answer not known 
,e;jpa muR Gjpa kj;jpa gy;fiyf; fofj;ij vq;Nf epWTtjhf mwptpj;jJ? 
(1) ylhf; 
(2) Ny 
(3) jkd; 
a. (1) kl;Lk;   b. (2) kl;Lk;   c. (3) kl;Lk; 
d. (1) kw;Wk; (2)  e. tpil njhpatpy;iy 
 

17. Identify the wrongly matched pairs. 
Party       Symbol 
(1) Communist Party of India (Marxist) - Ears of Corn and Sickle 
(2) Communist Party of India  - Hammer, Sickle and Star 
(3) Samajwadi Party    - Bicycle 
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(4) Janata Dal (United)   - Hand Pump 
a. (1) and (2)   b. (2) and (3)   c. (1), (2) and (4) 
d. (2), (3) and (4)  e. Answer not known 
jtwhfg; nghUj;jg;gl;l N[hbiaf; fz;Lgpbf;fTk;. 
fl;rp      rpd;dk; 
(1) ,e;jpa fk;A+dp];l; fl;rp - Nrhsk; kw;Wk; mhpths; kly;fs; 
(2) ,e;jpa fk;A+dp];l; fl;rp - Rj;jp> mhpths; kw;Wk; el;rj;jpuk; 
(3) rkh[;thb fl;rp   - kpjptz;b 
(4) [djh jsk; (xd;wpa)  - if ,iwg;ghd; 
a. (1) kw;Wk; (2)  b. (2) kw;Wk; (3)   c. (1), (2) kw;Wk; (4) 
d. (2), (3) kw;Wk; (4)  e. tpil njhpatpy;iy 
 

18. The latest Indian supercomputer is 
a. Fugaku    b. Summit   c. Tianhe-2 
d. Param Siddhi   e. Answer not known 
,e;jpahtpd; mz;ikf;fhy kPf;fzpdp 
a. /GfhF    b. rk;kpl;   c. bahd;`p-2 
d. guk; rpj;jp    e. tpil njhpatpy;iy 
 

19. Match the following hills with their locations. 
A. Villupuram  1. Pachai malai 
B. Perambalur  2. Mahendragiri malai 
C. Kanyakumari  3. Gingee hills 
D. Tirunelveli  4. Marunthuvazh malai 
 A B C D 
a. 3 4 2 1 
b. 2 4 3 1 
c. 2 4 1 3 
d. 4 3 1 2 
e. Answer not known 
fPo;fz;l kiyfis mjd; mike;Js;s ,lq;fNshL nghUj;Jf. 
A. tpOg;Guk;   1. gr;ir kiy 
B. nguk;gY}h;   2. kNfe;jpufphp kiy 
C. fd;dpahFkhp  3. nrQ;rp kiy 
D. jpUney;Ntyp  4. kUe;Jtho; kiy 
 A B C D 
a. 3 4 2 1 
b. 2 4 3 1 
c. 2 4 1 3 
d. 4 3 1 2 
e. tpil njhpatpy;iy 
 

20. Match the following: 
A. Sambar Lake   1. Odhisha 
B. Pulicat Lake   2. Kerala 
C. Chilka Lake   3. Rajasthan 
D. Vembanad Lake   4. Andhra Pradesh and Tamil Nadu 
 A B C D 
a. 3 1 4 2 
b. 3 4 1 2 
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c. 3 2 1 4 
d. 3 1 2 4 
e. Answer not known 
nghUj;Jf : 
A. rhk;ghh; Vhp   1. xb~h 
B. Gypfhl; Vhp   2. Nfush 
C. rpypf;fh Vhp  3. ,uh[];jhd; 
D. Ntk;gehL Vhp  4. Me;jpug; gpuNjrk; kw;Wk; jkpo;ehL 
 A B C D 
a. 3 1 4 2 
b. 3 4 1 2 
c. 3 2 1 4 
d. 3 1 2 4 
e. tpil njhpatpy;iy 
 

21. Madhya Pradesh and Rajasthan get benefited by _____ project. 
a. Chambal Valley project     b. Tungabhadra project 
c. Indira Gandhi Canal project    d. Kosi project 
e. Answer not known 
kj;jpag;gpuNjrk; kw;Wk; ,uh[];jhd; khepyq;fs; ve;jj; jpl;lj;jpd; %yk; gadilfpd;wd? 
a. rk;gy; gs;sj;jhf;Fj; jpl;lk;    b. Jq;fgj;uh jpl;lk; 
c. ,e;jpuhfhe;jp fhy;tha;j; jpl;lk;    d. Nfhrp jpl;lk; 
e. tpil njhpatpy;iy 
 

22. In which State, Gir National Park is located? 
a. Gujarat   b. Karnataka   c. Kerala 
d. Uttarkhand  e. Answer not known 
fph; Njrpa G+q;fh ve;j khepyj;jpy; mike;Js;sJ? 
a. F[uhj;   b. fh;ehlfh   c. Nfush 
d. cj;jpufhz;l;  e. tpil njhpatpy;iy 
 

23. Which is the least populous State of India? 
a. Rajasthan   b. Jharkhand   c. Telangana 
d. Sikkim   e. Answer not known 
,e;jpahtpy; kpff;Fiwe;j kf;fs; njhif nfhz;l khepyk; vJ? 
a. ,uh[];jhd;  b. [hh;f;fz;l;   c. njYq;fhdh 
d. rpf;fpk;   e. tpil njhpatpy;iy 
 

24. Which one is wrongly matched? 
(Railway zone and Headquarters) 
a. Central Railway – Chennai   b. Eastern Railway – Kolkata 
c. Northern Railway – Kolkata   d. Western Railway – Mumbai 
e. Answer not known 
vJ jtwhf nghUe;jpAs;sJ? 
(,uapy; kz;lyq;fs; kw;Wk; jiyikaplk;) 
a. kj;jpa ,uapy;Nt – nrd;id   b. fpof;F ,uapy;Nt – nfhy;fj;jh 
c. tlf;F ,uapy;Nt – GJ nly;yp  d. Nkw;F ,uapy;Nt – Kk;ig 
e. tpil njhpatpy;iy 
 

25. ____ had a planned town, built on a planned town, built on a platform. 
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a. Lothal   b. Harappa   c. Mohenjo daro 

d. Kalibangan  e. Answer not known 
_____ Xh; cah;e;j Nkil kPJ ed;F jpl;ljpl;Lf; fl;lg;gl;l efuk;. 
a. Nyhj;jy;   b. `ug;gh   c. nkhfQ;rjhNuh 
d. fhypgq;fd;  e. tpil njhpatpy;iy 
 

26. Which of the following is correctly paired? 

1. Hoysala  - Devagiri 

2. Yadavas  - Dwarasamudra 

3. Kakatias  - Warangal 

4. Pallavas  - Madurai 

a. (1) and (2)   b. (3) and (4)  c. (3) only 

d. (1), (2) and (4)   e. Answer not known 
gpd;tUtdtw;Ws; vJ rhpahf nghUj;jg;gl;Ls;sJ? 
1. N`ha;rhyh; - Njtfphp 
2. ahjth;  - JthurKj;jpuh 
3. fhfjPah;  - thuhq;fy; 
4. gy;yth;  - kJiu 
a. (1) kw;Wk; (2)   b. (3) kw;Wk; (4)  c. (3) kl;Lk; 
d. (1)> (2) kw;Wk; (4)   e. tpil njhpatpy;iy 
 

27. Choose the wrong matches type : 
Which of the following is in correctly paired? 
1. Qutbuddin Aibak – Lak Baksha 
2. Iltumish – Malik Kafur 
3. Muhammad bin Tughlaq – Token currency 
4. Firoz Tughlaq – The forty system 
a. (2) and (4)   b. (2) and (3)   c. (1) and (2) 
d. (1) and (3)   e. Answer not known 
jtwhd nghUj;jq;fis Njh;e;njLf;fTk; 
1. Fj;GjPd; Ma;gf; - yhf; gf;~h 
2. ,y;Jkp~; - khypf; fhG+h; 
3. KfkJ gpd; Jf;yf; - milahs; ehzaq;fs; 
4. /gpNuh]; Jf;yf; - ehw;gjpd;kh; FO 
a. (2) kw;Wk; (4)   b. (2) kw;Wk; (3)  c. (1) kw;Wk; (2) 
d. (1) kw;Wk; (3)   e. tpil njhpatpy;iy 

 
28. _____ was the last battle of Babar fought against the Afgans. 

a. Battle of Chanderi  b. Battle of Ghagra  c. Battle of Kanauj 
d. Battle of Chausa   e. Answer not known 
Mg;fhdpah;fSf;F vjpuhf ghgh; Nkw;nfhz;l ,Wjpg;Nghh;. 
a. re;Njhpg;Nghh;   b. rhf;uh Nghh;   c. fd;Ndhrpg; Nghh; 
d. nrsrhg; Nghh;   e. tpil njhpatpy;iy 
 

29. Fines are mentioned in the Kasakudi plates of 
a. Nandivarman   b. Narasimhavarman c. Paramesvaravarman 
d. Dantivarman   e. Answer not known 
_____ ,d; fhrf;Fb nrg;NgLfspy; mguhjq;fisg; gw;wpa Fwpg;Gfs; fhzg;gLfpd;wd. 

a. ee;jpth;kd;    b. eurpk;kth;kd;  c. guNk];tuth;kd; 
d. jz;bth;kd;   e. tpil njhpatpy;iy 
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30. (i) Chola period was famous for rock sculptures. 

(ii) Pallava period was famous for Vimanas. 
a. (i) is True    b. (ii) is True   c. (i) True and False 
d. Both are False   e. Answer not known 
(i) Nrhoh;fhyk; ghiwr; rpw;gq;fSf;F ngah; ngw;wJ. 
(ii) gy;yth; fhyk; tpkhdq;fSf;Fg; ngah; ngw;wJ. 
a. (i) rhp    b. (ii) rhp   c. (i) rhp kw;Wk; (ii) jtW 
d. ,uz;Lk; jtW   e. tpil njhpatpy;iy 
 

31. “The Architectural Sculpture of the South India Temple” written by 
a. K.A. Nilakanta Sastri  b. Burton Stein  c. Crispin Branfoot 

d. Abraham Eraly   e. Answer not known 
“njd;dpe;jpa Nfhtpypd; fl;blf;fiy rpw;gk; vOjpath;” 
a. K.A. ePyfz;l rh];jphp  b. gh;ld; ];Bd;  c. fphp];gpd; gpuhd;G+l; 
d. Mgpufhk; vuhyp   e. tpil njhpatpy;iy 
 

32. The term Secularism is derived from the _____ word Saeculum. 
a. Tamil b. Latin c. English d. Greek e. Answer not known 
rka rhh;gpd;ik vd;w nrhy; _____ thh;j;ijahd nrFyk; (Saeculum) vd;gjpypUe;J 
ngwg;gl;lJ. 
a. jkpo; b. yj;jPd; c. Mq;fpyk; d. fpNuf;fk; e. tpil njhpatpy;iy 

 
33. Reason and Assertion type : 

Assertion [A]: The preface of the Constitution is the preamble. 
Reason [R]:  According to it, India is a sovereign, socialist, Secular, democratic 
    republic.  
a.  [A] is true but [R] is false 
b. Both [A] and [R] are true; and [R] is the correct explanation of [A] 
c. [A] is false, [R] is true 
d. Both [A] and [R] are true but [R] is not the correct explanation of [A] is correct 
e. Answer not known 
fhuzk; kw;Wk; $w;W Kiw : 
$w;W [A]:  “murikg;Gr; rl;lj;jpd;” Kd;Diu jhd; Kfg;Giu vd;W 
    miof;fg;gLfpwJ. 
fhuzk; [R]:  mJ ,e;jpahit ,iwahz;ik> rkj;Jtk;> kjr; rhh;gpd;ik> 
    kf;fshl;rpf; FbauR vd;W tiuaiw nra;fpwJ. 
a. $w;W [A] rhp Mdhy; fhuzk; [R] jtW 
b. $w;W [A] Ak; fhuzk; [R]k; rhp ; fhuzk; [R] $w;W [A] it rhpahf tpsf;FfpwJ. 
c. $w;W [A] jtW> fhuzk; [R] rhp 
d. $w;W [A] Ak;> fhuzk; [R]k; rhp Mdhy; fhuzk; [R] $w;W [A] it rhpahf tpsf;ftpy;iy 
e. tpil njhpatpy;iy 
 

34. Fundamental duties are given in which part of the Constitution? 
a. Part II   b. Part III   c. Part IV 
d. Part IVA   e. Answer not known 
mbg;gil flikfs; gw;wp murpayikg;gpy; ve;j gFjpapy; nfhLf;fg;gl;Ls;sd? 
a. gFjp II   b. gFjp III   c. gFjp IV 
d. gFjp IVA   e. tpil njhpatpy;iy 
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35. Match the following 
A. The Community Development Programme  1. 1882 
B. National Extension Service    2. 1952 
C. The Great Charter on Panchayat Raj   3. 1953 
D. Introducing the local self Government  4. 1957 
 A B C D 
a. 3 4 2 1 
b. 4 2 1 3 
c. 2 1 3 4 
d. 2 3 4 1 
e. Answer not known 
nghUj;Jf : 
A. r%f mgptpUj;jp jpl;lk;     1. 1882 
B. Njrpa ePl;bg;G Nrit     2. 1952 
C. gQ;rhaj;J uh[; rl;lj;jpd; khgnUk; rhrdk;  3. 1953 
D. cs;shl;rp mikg;Gfs; mwpKfk;   4. 1957 
 A B C D 
a. 3 4 2 1 
b. 4 2 1 3 
c. 2 1 3 4 
d. 2 3 4 1 
e. tpil njhpatpy;iy 
 

36. Which of the following committee was appointed by the Planning Commission in 1985? 
a. Balwant Rai Mehta  b. Ashok Mehta  c. G.V.K. Rao 
d. L.M. Singhvi   e. Answer not known 
fPo;fhz;gdtw;wpy; 1985 Mk; Mz;L jpl;lf; FOtpdhy; epWtg;gl;l FO vJ? 
a. gy;te;j;uha; Nkj;jh FO  b. mNrhf; Nkj;jh FO c. G.V.K. uht; FO 
d. L.M. rpq;tp FO   e. tpil njhpatpy;iy 
 

37. From which of the following countries India has adopted its electoral system? 
a. Russia   b. U.S.A    c. United Kingdom 

d. Canada   e. Answer not known 
fPo;f;fz;l ehLfspy; ve;j ehl;bd; Njh;jy; Kiwapid ,e;jpah Vw;Wf;nfhz;Ls;sJ? 
a. u~;ah   b. mnkhpf;f If;fpa ehLfs; c. ,q;fpyhe;J 
d. fdlh   e. tpil njhpatpy;iy 
 

38. Which of the following statements are true? 
I. The State Human Right Commission was established is 1993. 
II. It can also recommend compensation. 
III. It has the power of a civil court. 
IV. It's power extend beyond the state. 
a. I and IV true  b. I, II and III true  c. II, III and IV are true 
d. I only true   e. Answer not known 
gpd;tUk; $w;Wfspy; vit rhpahdit? 
I. khepy kdpj chpik Mizak; 1993 ,y; epWtg;gl;lJ. 
II. ,J ghjpf;fg;gl;lth;fSf;F ,og;gPL toq;f ghpe;Jiuf;fyhk; 
III. ,J Xh; chpikapay; ePjpkd;wj;jpw;Fhp mjpfhuq;fisg; ngw;Ws;sJ. 
IV. ,jd; mjpfhuk; khepy vy;iyfisf; fle;J nray;gLk;. 
a. I kw;Wk; IV rhp  b. I, II kw;Wk; III rhp  c. II, III kw;Wk; IV rhp 
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d. I kw;Wk; rhp   e. tpil njhpatpy;iy 
 

39. Which of the following statements are true about Indian Economy? 
1. Indian economy is a typical example of Capitalist Economy 
2. Agriculture being the maximum pursued occupation in India. 
3. Indian economy has a place among the G20 countries. 
4. Adequate employment generation. 
a. (1) and (2) only   b. (2) and (3) only  c. (3) and (4) only 
d. (1) and (4) only   e. Answer not known 
gpd;tUtdtw;wpy; rhpahd nrhw;nwhliu fz;Lgpb. 
,e;jpa nghUshjhuk; 
1. ,e;jpa nghUshjhuk; Kjyhspj;Jt nghUshjhuj;jpw;F rpwe;j vLj;Jf;fhl;lhFk;. 
2. ,e;jpahtpy; mjpfkhNdhh; Ntshz; njhopy; nra;J tUfpd;wdh;. 
3. ,e;jpag; nghUshjhuk; G20 ehLfspy; ,lk; ngw;Ws;sJ. 
4. Ntiy tha;g;ig cUthf;f jpwd; cs;s epiy. 
a. (1) kw;Wk; (2) kl;Lk;  b. (2) kw;Wk; (3) kl;Lk; c. (3) kw;Wk; (4) kl;Lk; 
d. (1) kw;Wk; (4) kl;Lk;  e. tpil njhpatpy;iy 
 

40. Assertion [A]: The Planning Commission has been replaced by the Niti Aayog. 
Reason [R]:  Niti Aayog does not serves as a knowledge hub and monitors 
    progress in the implementation of policies and programmes of the 
    Government of India. 
a. [A] is false, but [R] is correct 
b. Both [A] and [R] are correct 
c. Both [A] and [R] are true, and [R] is the correct explanation of [A] 
d. [A] is true but [R] is false 
e. Answer not known 
$w;W [A]:  jpl;lf;FO vd;gjw;F khw;whf epjp MNahf; vd;w mikg;G 
    Vw;gLj;jg;gl;lJ. 
fhuzk; [R]:  epjp MNahf; ,e;jpa murpd; jpl;lq;fisAk;> nfhs;iffisAk; 
    fz;fhzpf;Fk; mwpT ikak; my;y. 
a. [A] jtW Mdhy; [R] rhp 
b. [A] kw;Wk; [R] ,uz;Lk; rhp 
c. [A] kw;Wk; [R] ,uz;Lk; rhp; [R] vd;gJ [A]-tpw;fhd rhpahd tpsf;fkhFk; 
d. [A] rhp Mdhy; [R] jtW 
 e. tpil njhpatpy;iy 
 

41. Which one of the following statement are correct about Finance Commission? 
1. Non-Judicial Body 
2. Quasi-Judicial Body 
3. Complete-Judicial Body 
4. None of the above 
a. 2 only correct  b. 1 and 3 are correct c. 1 and 2 are correct 
d. 4 only correct  e. Answer not known 
fPo; nfhLf;fg;gl;Ls;stw;wpy; epjpf; FOf; Fwpj;J rhpahdit : 
1. rl;lg;G+h;tkw;w mikg;G MFk; 
2. gFjprhh; rl;lg;G+h;t mikg;G MFk; 
3. Kw;wpYk; rl;lg;G+h;t mikg;G MFk; 
4. Nkw;fz;l vJTk; ,y;iy 
a. 2 kl;Lk; rhp   b. 1 kw;Wk; 3 rhp  c. 1 kw;Wk; 2 rhp 
d. 4 kl;Lk; rhp  e. tpil njhpatpy;iy 
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42. When GST was came into effect? 

a. July 1, 2017  b. July 10, 2017  c. July 29, 2017 
d. July 1, 2018  e. Answer not known 
vg;NghJ gz;lq;fs; kw;Wk; gzpfs; thp mKy;gLj;jg;gl;lJ? 
a. [_iy 1> 2017  b. [_iy 10> 2017  c. [_iy 29> 2017 
d. [_iy 1> 2018  e. tpil njhpatpy;iy 
 

43. The Green Revolution was confined only to high yielding varieties cereals mainly 
1. Rice and wheat 
2. Maize and Jowar 
3. Pulses and Sugarcane 
4. Oilseeds and Sugarcane 
a. 1 and 3 only  b. 2 and 3 only  c. 1 and 2 only 
d. 1 and 4 only  e. Answer not known 
gRik Gul;rpahdJ mjpf tpisr;ry; juf;$ba tiffSf;F Kf;fpaj;Jtk; toq;fpaJ. 
1. mhprp kw;Wk; NfhJik 
2. kf;fhr;Nrhsk; kw;Wk; Nrhsk; 
3. rpWjhdpak; kw;Wk; fUk;G 
4. vz;iz tpj;Jf;fs; kw;Wk; fUk;G 
a. 1 kw;Wk; 3 kl;Lk;  b. 2 kw;Wk; 3 kl;Lk;  c. 1 kw;Wk; 2 kl;Lk; 
d. 1 kw;Wk; 4 kl;Lk;  e. tpil njhpatpy;iy 
 

44. The National Rural Health Mission (NRHM) was launched on 
a. 10th May 2010  b. 15th May 2015  c. 10th April 2020 
d. 12th April 2005  e. Answer not known 
Njrpa Cuf ey mikg;G (NRHM) ve;j Mz;L Muk;gpf;fg;gl;lJ? 
a. 10 Nk 2010  b. 15 Nk 2015  c. 10 Vg;uy; 2020 
d. 12 Vg;uy; 2020  e. tpil njhpatpy;iy 
 

45. The major shareholders of the Swadeshi Steam Navigation company 
a. Pandithurai and Haji Fakir Mohammed  b. Bipin Chandra Pal 
c. Tilak       d. V.V. Subramaniam 
e. Answer not known 
RNjrp ePuhtpf;fg;gy; fofj;jpd; nghpa gq;Fjhuh;fshf ,Ue;jth;fs; ahh;? 
a. ghz;bj;Jiu> `h[p gf;fPh;    b. gpgpd; re;jpu ghy; 
c. jpyfh;       d. t.Nt. Rg;ukzpak; 

e. tpil njhpatpy;iy 
 

46. Which of the following is correctly matched? 
1. Major Bannerman   - The Siege of Panchalamkurichi 
2. Colonel Agnew and Innes - Maruthu Brothers 
3. Colonel Heron   - Puli Thevar 
4. Chief Sir John Cradock  - Vellore Revolt 1806 
a. 1, 2 are correct   b. 1, 3, 4 are correct  c. 1, 2, 3 are correct 
d. 1, 2, 3, 4 are correct  e. Answer not known 
gpd;tUtdtw;Ws; vJ rhpahf nghUj;jg;gl;Ls;sJ? 
1. Nk[h; ghndh;nkd;    - ghQ;rhyq;Fwpr;rp Kw;Wif 
2. fh;dy; mf;dpA+ kw;Wk; ,d;d]k; - kUJ rNfhjuh;fs; 
3. fh;dy; n`uhd;    - Gypj;Njth; 
4. jiyikj; jsgjp rh;[hd; fpulhf; - NtY}h; fyfk; 1806 
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a. 1 kw;Wk; 2 rhp   b. 1> 3 kw;Wk; 4 rhp  c. 1> 2> 3 rhp 
d. 1> 2> 3> 4 rhp   e. tpil njhpatpy;iy 
 

47. Choose the right answer among type: 
The major objectives and demands of INC were: 
(i) It demanded Indian representation in the Government 
(ii) It would promote the feeling of National unity in the country 
(iii) To train and organize public opinion in the country . 
a. (i) only   b. (i) and (iii) only  c. (i), (ii) and (iii) 
d. (ii) and (iii) only  e. Answer not known 
rhpahd $w;iwj; Njh;e;njLf;fTk; : 
,e;jpa Njrpa fhq;fpurpd; Kf;fpa Nehf;fq;fSk; Nfhhpf;iffSk;: 
(i) murpy; ,e;jpag; gpujpepjpfs; ,lk;ngw Ntz;Lk;. 
(ii) ehl;by; Njrpa xw;Wik czh;it Cf;Ftpj;jy;. 
(iii) ehl;by; nghJf; fUj;ij xOq;fikf;fTk; gapw;Wtpf;fTk;. 
a. (i) kl;Lk;   b. (i) kw;Wk; (iii) rhpahdJ  c. (i), (ii) kw;Wk; (iii) 
d. (ii) kw;Wk; (iii) rhpahdJ e. tpil njhpatpy;iy 
 

48. Where is Dr. Ambedkar Law University located? 
a. Maharastra  b. Tamilnadu   c. Bihar 
d. Uttarpradesh  e. Answer not known 
lhf;lh; mk;Ngj;fh; rl;l gy;fiyf;fofk; vq;F mike;Js;sJ? 
a. kfhuhl;buk;  b. jkpo;ehL    c. gPfhh; 
d. cj;jugpuNjrk;  e. tpil njhpatpy;iy 
 

49. Assertion [A]: Swadeshi Navigation shares were open only to Asian Nationals. 
Reason [R]:  Arabind Ghose lauded the Swadeshi efforts and helped to promote 
    the shares of the company. 
a. [A] is true but [R] is false 
b. Both [A] and [R] are true; and [R] is the correct explanation of [A]. 
c. [A] is false [R] is true 
d. Both [A] and [R] are true; but [R] is not the correct explanation of [A]. 
e. Answer not known 
$w;W [A]: RNjrp ePuhtp fg;gy;fspd; gq;F Mfpa ehLfSf;F kl;Lk; tpw;gid 
   nra;ag;gl;lJ. 
fhuzk; [R]: mutpe;j; Nfh~; RNjrp Kaw;rpfisg; ghuhl;b fk;ngdpapd; gq;Ffs; 
   tpw;gidf;F cjtpdhh;. 
a. [A] rhp ; Mdhy; [R] jtW 
b. [A] kw;Wk; [R] ,uz;LNk rhpahdJ; [R] vd;gJ [A] apd; rhpahd tpsf;fkhFk;. 
c. [A] jtW; Mdhy; [R] rhpahdJ 
d. [A] kw;Wk; [R] ,uz;LNk rhpahdJ ; Mdhy; [R] vd;gJ [A] apd; rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 
 

50. Rabindranath Tagore composed National Anthem for India and 
a. Bangladesh  b. Pakistan   c. England 
d. Srilanka   e. Answer not known 
,utPe;jpuehj; jh$h; ,e;jpah kw;Wk; ____ ehl;bw;fhf Njrpa fPjj;ij vOjpdhh;. 
a. gq;fshNj~;  b. ghfp];jhd;   c. ,q;fpyhe;J 
d. =yq;fh   e. tpil njhpatpy;iy 
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51. Who opened Sarada Sadan (Home of Learning) for Hindu widows in Bombay? 
a. A. Moovalur Ramamirdham   b. Dr. Muthu Lakshmi Reddy 
c. Pandita Ramabai     d. Tara Bai Shinde 
e. Answer not known 
gk;ghapy; ,e;J tpj;itfSf;fhf ‘rhujh rjd;’ (fw;wy; ,y;yk;) vd;Dk; mikg;gpid 
njhlq;fpath; ahh;?; 
a. %thY}h; ,uhkhkph;jk;     b. lhf;lh;. Kj;J yÑ;kp nul;b 
c. gz;bj; uhkhgha;      d. jhuhgha; ~pd;Nl 
e. tpil njhpatpy;iy 

 
52. Choose the correct answer: 

Vanchinathan was one of the members of a radical group called 
a. Anandmath  b. Dawn society  c. Bharata Mata Association 
d. Pacific Coast Hindustan e. Answer not known 
rhpahd tpiliaj; Njh;T nra;f: 
thQ;rpehjd; cWg;gpduhf ,Ue;j Gul;rpfu Njrpathjf; FOtpd; ngah; 
a. mde;jklk;     b. tpbnts;spf; fofk;  
c. ghuj khjh FO     d. grpgpf; gpuNjr ,e;J];jhd; mikg;G 
e. tpil njhpatpy;iy 

 
53. What is compared to the activity of speaking without knowledge in a scholars meet by 

Valluvar? 
a. Live without love     b. Dancing without a stick 
c. Playing Dice without a board   d. Living without working 
e. Answer not known 
epiwe;j mwpthw;wy; ,y;yhky; rhd;Nwhh; mitapy; NgRtij ts;Sth; vjDld; 
xg;gpLfpwhh;? 
a. md;gpd;wp tho;jy;     b. Nfhy; ,d;wp MLjy; 
c. muq;fpd;wp tl;lhLjy;    d. ciog;gpd;wp tho;jy; 
e. tpil njhpatpy;iy 

 
54. “…. Plucking an unripe fruit when there are ripe ones”? 

- In this Kural what is referred to as ‘unripe fruit’? 
a. Meaningless words  b. Harsh words  c. Words without love 
d. Slang words   e. Answer not known 
“fdpapUg;gf; fha;fth;e; jw;W” - ,f;Fwspy; ‘fha;’ vd;W ts;Sth; vjidf; 
Fwpg;gpLfpd;whh;? 
a. nghUsw;w nrhy;   b. fLQ;nrhy;   c. md;gpy;yhj nrhy; 
d. nfhr;irr; nrhy;   e. tpil njhpatpy;iy 

 
55. Who according to Valluvar gains loveable place in the minds of all? 

a. Men who speak truth     b. Men of sweet speech 
c. Men of beauty and richness    d. Men who are at others wits end 
e. Answer not known 
ts;Sthpd; fUj;Jg;gb> cyfj;jhh; kdq;fspy; tho;gth; ahh;? 
a. cz;ikiag; NgRgth;     b. ,dpa nrhy; $Wgth; 
c. mofpa cUtk; cilath;    d. gpwh; nrhw;Nfl;L elg;gth; 
e. tpil njhpatpy;iy 
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56. What will happen to the wealth that has been required by fraudulence according to 
Valluvar? 
a. Perish little by little  b. Perish a little c. Perish without growth 
d. Will result in limitless ruin e. Answer not known 
fstpdhy; cz;lhFk; ngUQ;nry;tk; vt;thW nfLk; vd;W ts;Sth; Fwpg;gpLfpwhh;? 
a. rpWfr; rpWf nfLk;    b. Fiwthff; nfLk;  
c. tsuhky; nfLk;     d. msT ,we;J MtJ Nghyf; nfLk; 
e. tpil njhpatpy;iy 

 
57. What should we do to the wealth that comes without grace and love according to 

Valluvar? 
a. Gather it   b. Avoid as evil  c. Spend it 
d. Accept it   e. Answer not known 
mUnshLk; md;NghLk; thuhg; nghUis vd;d nra;a Ntz;Lk; vd;W ts;Sth; $Wfpwhh;? 
a. Nrfhpj;Jtply;  b. Gustply;   c. nrytply; 
d. Vw;Wf; nfhsy;  e. tpil njhpatpy;iy 

 
58. What according to Valluvar breaks the cycle of rebirth? 

a. Philanthropy  b. State of detatchment  c. A kind heart 
d. Compassionate  e. Answer not known 
gpwg;gWf;Fk; jd;ikahf ts;Sthp vjidf; Fwpg;gpLfpwhh;? 
a. ts;sy; jd;ik  b. gw;ww;w epiy   c. md;Gs;sk; 
d. ,uq;Fjy;   e. tpil njhpatpy;iy 

 
59. In Tamil Nadu Neolithic culture site found in  

a. Kanniyakumari  b. Paiyampalli  c. Kodumanal 
d. Adichanallur  e. Answer not known 
Gjpa fw;fhy gz;ghL jkpo;ehl;by; gutpapUe;j ,lk; 
a. fd;dpahFkhp  b. igak;gs;sp  c. nfhLkzy; 
d. Mjpr;rey;Y}h;  e. tpil njhpatpy;iy 

 
60. ____ was the Tamil drama based on the English story “The Secret Way”. 

a. Shakuntala Vilasam b. Nandanar Charitram  c. Ratnaveli 
d. Manomaniam  e. Answer not known 
‘,ufrpa top’ vd;w Mq;fpy fijia jOtp ,aw;wg;gl;l jkpo; ehlfk; ____ MFk;. 
a. rFe;jiy tpyhrk; b. ee;jdhh; rhpj;jpuk;   c. uj;dhtsp 
d. kNdhd;kzPak;  e. tpil njhpatpy;iy 

 
61. Assertion [A]: The Fort of Sivagiri was eminently suited both for offensive and 

    defensive operations. 
Reason [R]:  It is at the fort of western Ghats with formidable barriers around it. 
a. [A] is correct, [R] is not the correct explanation of [A] 
b. Both [A] and [R] are wrong 
c. [A] is correct, [R] is the correct explanation of [A] 
d. [A] is wrong, [R] is correct 
e. Answer not known 
$w;W [A]: rptfphp Nfhl;ilj; jhf;Fjy; kw;Wk; jw;fhg;G eltbf;iffSf;F 
   ghJfhg;ghdjhf ,Ue;jJ. 
fhuzk; [R]: Nkw;Fj; njhlh;r;rp kiy mbthuj;jpy; tYthd muz;fNshL mJ 
   mikf;fg;gl;bUe;jJ. 
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a. $w;W [A] rhp> fhuzk; [R] $w;W [A] f;F rhpahd tpsf;fky;y 
b. $w;W [A] kw;Wk; fhuzk; [R] jtwhdit 
c. $w;W [A] rhp> fhuzk; [R] $w;W [A] f;F rhpahd tpsf;fk; MFk; 
d. $w;W [A] jtW fhuzk; [R] rhp 
e. tpil njhpatpy;iy 

 
62. Find out the wrong statement : 

(i) Velu Nachiyar was the daughter of Chellamuthu Sethupathy, the Raja of 
Ramanathapuram. 

(ii) Pagoda was a gold coin of Vijayanagar descent. 
(iii) In 1801 Marudhu Brothers issued the Tiruchirapalli proclamation. 
(iv) On 16, May 1761, Puli Thevar's three major forts Nerkattumseval 

Ramanathapuram, Sattur came under the control of Maruthu brothers. 
a. (i) and (ii)   b. (ii) and (iv)  c. (i) and (iii) 
d. (iv) only   e. Answer not known 
jtwhd $w;widj; Njh;T nra;f: 
(i)  NtY ehr;rpahh; ,uhkehjGuk; muruhd nry;yKj;J NrJgjpapd; kfs; Mthh;. 
(ii) tp[a efuj;jpy; mwpKfkhd jq;f ehzak; gNfhlh vdg;gl;lJ. 
(iii) kUJ rNfhjuh;fs; 1801 ,y; ‘jpUr;rpuhg;gs;sp Nguwpf;ifia’ ntspapl;ldh;. 
(iv) 1761> Nk 16 ehs; GypNjtdpd; Kf;fpakhd %d;w Nfhl;ilahd new;fhl;Lk;Nrty;> 

,uhkehjGuk;> rhj;J}h; kUJ rNfhjuh;fs; trkhapd. 
a. (i) kw;Wk; (ii)   b. (ii) kw;Wk; (iv)  c. (i) kw;Wk; (iii) 
d. (iv) kl;Lk;    e. tpil njhpatpy;iy 
 

63. Name the commander of the Rani of Jhansi regiment of the Indian National Army. 
a. Aruna Asaf Ali   b. Usha Mehta  c. Dr. Lakshmi 
d. Kalpana Dutt   e. Answer not known 
,e;jpa Njrpa ,uhZtj;jpd; [hd;rp uhzp gilg;gphptpid jiyik jhq;fpath;. 
a. mUzh Mrg; myp  b. c~h Nkj;jh  c. lhf;lh;. yl;Rkp 
d. fy;gdh jj;   e. tpil njhpatpy;iy 

 
64. Who established the Satya Dharma Salai Vadalur? 

a. Ramalinga Adigal     b. Iyotheethoss Pandithar 
c. Maraimalai Adigal     d. Arumuga Navalar 
e. Answer not known 
tlY}hpy rj;a jh;k rhiyia> Vw;gLj;jpath; ahh;? 
a. ,uhkypq;f mbfs;     b. mNahj;jpjhr gz;bjh; 
c. kiwkit mbfs;     d. MWKf ehtyh; 
e. tpil njhpatpy;iy 

 
65. Match the following: 

A. Prarthana Samaj    1. 1828 
B. Samrasa Vedha Sanmarga Sangam 2. 1875 
C. Brahmo Samaj    3. 1865 
D. Arya Samaj    4. 1867 
 A B C D 
a. 3 4 1 2 
b. 2 3 1 4 
c. 4 3 1 2 
d. 1 4 2 3 
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e. Answer not known 
nghUj;Jf: 
A. gpuhh;j;jid rkh[k;   1. 1828 
B. rkur Ntj rd;khh;f;f rq;fk;  2. 1875 
C. gpuk;k rkh[k;    3. 1865 
D. Mhpa rkh[k;    4. 1867 
 A B C D 
a. 3 4 1 2 
b. 2 3 1 4 
c. 4 3 1 2 
d. 1 4 2 3 
e. tpil njhpatpy;iy 

 
66. ____ was established by the Justice Party Government for the selection of Government 

officials in 1924. 
a. Staff Selection Commission   b. Public Service Commission 
c. Staff Selection Board    d. Provincial Staff Recruitment Board 
e. Answer not known 
muR mjpfhhpfisj; Njh;T nra;a ePjpf; fl;rpahy; 1924-y; epWtg; ngw;wJ 
a. gzpahsh; Njh;thizak;   b. nghJg; gzp Mizak; 
c. gzpahsh; Njh;T thhpak;    d. khepyg; gzpahsh; MnsLg;G thpak; 
e. tpil njhpatpy;iy 

 
67. Choose the correct answer about the Devadasi system: 

I. Dr. Muthulakshmi dedicated herself for the cause of abolishing this practice . 
II. She was the first woman doctor in India. 
III. She proposed the bill in 1945. 
a. Only I and II   b. Only II   c. Only III 
d. Only II and III   e. Answer not known 
Njtjhrp Kiwiag; gw;wpa rhpahd $w;wpid / $w;Wfis Njhe;njLf;fTk;. 
I. ,e;j eilKiwia xopf;f lhf;lh; Kj;Jyl;Rkp jd;id mh;g;gzpj;Jf; nfhz;lhh;. 
II. mth; ,e;jpahtpd; Kjy; ngz; kUj;Jth; Mthh;. 
III. mth; 1945 ,y; kNrhjhit Kd;nkhope;jhh;. 
a. I kw;Wk; II kl;Lk;   b. II kl;Lk;   c. III kl;Lk; 
d. II kw;Wk; III kl;Lk;   e. tpil njhpatpy;iy 

 
68. Choose the correct answer about Hindu Widow's Remarriage Act, 1856: 

a. Female Infanticide     b. Abolition of Sati   
c. Permitted widow remarriage    d. Age at marriage raised 
e. Answer not known 
,e;J tpjit kWkzr; rl;lk; 1856 gw;wpa rhpahd $w;wpidj; Njh;e;njLf;fTk; : 
a. ngz; rpRf;nfhiy     b. rjp xopg;G 
c. tpjit kWkzk; mDkjpf;fg;gLfpwJ   d. jpUkz taJ cah;e;jJ 
e. tpil njhpatpy;iy 

 
69. Maintenance and Welfare of parents and senior citizens act was passed in which year 

a. 2005 b. 2006 c. 2007  d. 2017 e. Answer not known 
ngw;Nwhh; kw;Wk; %j;j Fbkf;fspd; guhkhpg;G kw;Wk; eyd; rl;lk; ve;j Mz;L mkYf;F 
te;jJ? 
a. 2005 b. 2006 c. 2007  d. 2017 e. tpil njhpatpy;iy 
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70. Which are the statements are true about the insufficient in nutrition and health? 

1. Anaemic 
2. Underweight 
3. Enough micronutrient 
a. 1 and 3 only  b. 2 and 3 only  c. 1 and 2 only 
d. 2 only   e. Answer not known 
gpd;tUk; ve;j thf;fpaq;fs; Cl;lr;rj;J kw;Wk; Rfhjhu Fiwtpdhy; Vw;gLk; tpisTfspy; 
rhpahdJ? 
1. ,uj;j Nrhif 
2. Fiwthd vil 
3. NghJkhd Ez;Z}l;lrj;J 
a. 1 kw;Wk; 3 kl;Lk;  b. 2 kw;Wk; 3 kl;Lk; c. 1 kw;Wk; 2 kl;Lk; 
d. 2 kl;Lk;   e. tpil njhpatpy;iy 

 
71. Ahobila mutt was located in which places 

a. Tanjore   b. Madurai   c. Srirangam 
d. Cochin   e. Answer not known 
mN`hgpy klk; ve;j ,lj;jpy; cUthf;fg;gl;lJ? 
a. jQ;ir   b. kJiu   c. =uq;fk; 
d. nfhr;rpd;   e. tpil njhpatpy;iy 

 
72. Choose the correct answer: 

1. The Madras University was founded in 1857. 
2. It was the first university in Tamil Nadu. 
3. Annamalai University was founded in Tanjore in 1929. 
a. only 1   b. only 2   c. Only 1 and 2 
d. only 3   e. Answer not known 
rhpahd gjpiy Njh;T nra;aTk;: 
1. nkl;uh]; gy;fiyf;fofk; 1857,y; epWtg;gl;lJ. 
2. ,J jkpo;ehl;bd; Kjd; gy;fiyf;fofk;. 
3. mz;zhkiy gy;fiyfofk; 1929,y; jQ;irapy; epWtg;gl;lJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 kl;Lk; 
d. 3 kl;Lk;   e. tpil njhpatpy;iy 
 

73. How many agro climatic zones are in Tamil Nadu? 
a. Six  b. Four  c. Seven d. Five e. Answer not known 
jkpo;ehl;by; vj;jid Ntshz; fhyepiy kz;lyq;fs; cs;sd? 
a. MW b. ehd;F c. VO  d. Ie;J e. tpil njhpatpy;iy 
 

74. Wild Life Protection Act was passed in the year 
a. 1980 b. 1986 c. 1972  d. 1974 e. Answer not known 
tdtpyq;F ghJfhg;G rl;lk; ve;j Mz;L epiwNtw;wg;gl;lJ? 
a. 1980 b. 1986 c. 1972  d. 1974 e. tpil njhpatpy;iy 
 

75. Which district was the highest sex ratio in Tamil Nadu as per 2011 census? 
a. Dharmapuri  b. Chennai   c. Nilgiris 
d. Salem   e. Answer not known 
jkpo;ehl;by; 2011 kf;fs; njhif fzf;nfLg;gpd;gb ghypd tpfpjk; mjpfkhf cs;s 
khtl;lk; vJ? 
a. jh;kGhp   b. nrd;id   c. ePyfphp 
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d. Nryk;   e. tpil njhpatpy;iy 
 
76. The income of a person is increased by 10% and then decreased by 10%. How much 

percent does he lose? 
a. 1%  b. 2%  c. 5%  d. 7%  e. Answer not known 
xU eghpd; tUkhdk; 10% mjpfhpf;fg;gl;L gpwF 10% Fiwf;fg;gLfpwJ vdpy;> mtUf;F 
Vw;gLk; ,og;G vj;jid rjtPjk;? 
a. 1%  b. 2%  c. 5%  d. 7%  e. tpil njhpatpy;iy 
 

77. Simplify: 
( ) ( )

( ) ( )

6.5 4.7 6.5 5.3

1.3 7.9 1.3 6.9

 + 

 − 
 

a. 50.15 b. 10.5  c. 1.5  d. 50  e. Answer not known 

RUf;Ff: 
( ) ( )

( ) ( )

6.5 4.7 6.5 5.3

1.3 7.9 1.3 6.9

 + 

 − 
 

a. 50.15 b. 10.5  c. 1.5  d. 50  e. tpil njhpatpy;iy 
 

78. Simplify: 
2

16 4

4 4

x x

x x

− −


+ +
 

a. (x + 4)   b. (x - 4)  c. (x + 4)(x - 4) 
d. (x2 - 42)   e. Answer not known 

RUf;Ff:
2

16 4

4 4

x x

x x

− −


+ +
 

a. (x + 4)   b. (x - 4)  c. (x + 4)(x - 4) 
d. (x2 - 42)   e. tpil njhpatpy;iy 
 

79. Find the greatest number consisting of 6 digits which is exactly divisible by 24, 15, 36 
a. 999360   b. 999720   c. 999540 
d. 999900   e. Answer not known 
24, 15, 36 Mfpa vz;fshy; kPjpapd;wp tFgLk; kpfg;nghpa Mwpyf;f vz;izf; fhz;f. 
a. 999360   b. 999720   c. 999540 
d. 999900   e. tpil njhpatpy;iy 
 

80. Kalai wants to cut identical squares as big as she can from a piece of paper measuring 
168 mm by 196 mm. What is the length of the side of the biggest square? 
a. 28 mm b. 56 mm c. 14 mm d. 168 mm e. Answer not known 
fiy 168 kp.kP kw;Wk; 196 kp.kP msTs;s. fhfpjj;jhis> jd;dhy; Kbe;j msT kpfg;nghpa 
mstpy; rkkhd rJuq;fshf ntl;l tpUk;Gfpwhh; vdpy;> mth; ntl;ba kpfg;nghpa rJuj;jpd; 
gf;f msT vd;d? 
a. 28 kp.kP b. 56 kp.kP c. 14 kp.kP d. 168 kp.kP e. tpil njhpatpy;iy 
 

81. The LCM of two numbers is 432 and their HCF is 36. If one of the number is 108, then 
find the other number 
a. 124  b. 144  c. 120  d. 146  e. Answer not known 
,U vz;fspd; kP.rp.k. 432 kw;Wk; kP.ng.fh. 36. xU vz; 108 vdpy; kw;Nwhh; vz; vd;d? 
a. 124  b. 144  c. 120  d. 146  e. tpil njhpatpy;iy 
 

82. Find the (LCM) Lowest Common Multiple of 24x2y, 36xy2 and 48xy. 
a. 24 x2y2   b. 144x4y4   c. 24x4y4 
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d. 144x2y2   e. Answer not known 
24x2y, 36xy2 kw;Wk; 48xy f;F kPr;rpW nghJ klq;F (kP.rp.kh) fhz;f. 
a. 24 x2y2   b. 144x4y4   c. 24x4y4 
d. 144x2y2   e. tpil njhpatpy;iy 
 

83. Divide 180 in the ratio 10 : 8. 
a. 100 : 80  b. 50 : 25 c. 18 : 2 d. 1 : 8  e. Answer not known 
180-d; 10 : 8 vd;w tpfpjk; 
a. 100 : 80 b. 50 : 25 c. 18 : 2 d. 1 : 8  e. tpil njhpatpy;iy 
 

84. A book has 70 pages with 30 lines of printed matter, on each page. If each page is to have 
only 20 lines of printed matter, then the number of pages that the book have is 
a. 210   b. 140  c. 105  d. 60  e. Answer not known 
xU Gj;jfj;jpy; 70 gf;fq;fs; cs;sd. xU gf;fj;jpy; 30 thpfs; mr;rplg;gLfpd;wJ. Mdhy;> 
mNj nra;jpia xU gf;fj;jpy; 20 thpfs; vd;W mr;rplg;gl;lhy;. me;j Gj;jfj;jpy; cs;s 
gf;fq;fspd; vz;zpf;if 
a. 210  b. 140  c. 105  d. 60  e. tpil njhpatpy;iy 
 

85. An office opens at 9.00 a.m. and closes at 5.30 p.m. with a lunch interval of 30 minutes. 
Then the ratio of lunch interval to total period in the office is 
a. 1 : 17 b. 17 : 1 c. 3 : 18 d. 2 : 17 e. Answer not known 
xU mYtyfk; 9.00 a.m. kzpf;F njhlq;fp 5.30 p.m. -f;F %lg;gLfpwJ. ,ilNa czT 
,ilNtis 30-epkplq;fs; vdpy; czT ,ilNtisf;Fk;> nkhj;j mYtyf Neuj;jpw;Fk; 
cs;s tpfpjk;. 
a. 1 : 17 b. 17 : 1 c. 3 : 18 d. 2 : 17 e. tpil njhpatpy;iy 
 

86. A principal becomes Rs. 10,050 at the rate of 10% in 5 years. Then find the principal? 
a. Rs. 2,350 b. Rs. 3,350 c. Rs. 3,450 d. Rs. 3,650 e. Answer not known 

Xh; mry; Mz;Lf;F 10% tl;b tPjj;jpy; 5 Mz;Lfspy; &. 10>050 Mf cah;e;jJ vdpy; 
mry; fhz;f. 
a. Rs. 2,350 b. Rs. 3,350 c. Rs. 3,450 d. Rs. 3,650 e. tpil njhpatpy;iy 
 

87. Find the SI for Rs. 2,000 at 5% p.a. for 2 years. 
a. Rs. 200 b. Rs. 400 c. Rs. 500 d. Rs. 600 e. Answer not known 
&. 2>000f;F Mz;Lf;F 5% tPjk; ,uz;lhz;LfSf;F jdptl;b fhz;f. 
a. Rs. 200 b. Rs. 400 c. Rs. 500 d. Rs. 600 e. tpil njhpatpy;iy 
 

88. In how many years will Rs. 1,600 becomes Rs. 1,852.20 at 5% per annum when interest 
compounded annually? 
a. 2 years   b. 2 ½ years   c. 3 years 

d. 4 years   e. Answer not known 
&. 1>600 MdJ 5% Mz;L $l;L tl;b tPjk; nfhz;L vj;jid Mz;Lfspy; &. 1>852.20 
MFk;? 
a. 2 Mz;Lfs;   b. 2 ½ Mz;Lfs;  c. 3 Mz;Lfs; 
d. 4 Mz;Lfs;  e. tpil njhpatpy;iy 
 

89. The population of a town is increasing at the rate of 6% per annum. It was 2,38,765 in the 
year 2018. Find the population in the year 2016. 
a. 2,00,125  b. 2,01,250 c. 2,12,500 d. 2,21,500 e. Answer not known 
xU efuj;jpd kf;fs; njhif Mz;Lf;F 6% mjpfhpf;fpwJ. 2018 Mk; Mz;L kf;fs; njhif 
2>38>765 Mf ,Ue;jJ vdpy;> 2016 Mk; Mz;bd; kf;fs; njhifiaf; fhz;f. 
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a. 2,00,125  b. 2,01,250 c. 2,12,500 d. 2,21,500 e. tpil njhpatpy;iy 
 

90. Find out the circumference of a circle whose diameter is 21 cm? 
a. 66 cm  b. 33 cm c. 65.94 cm d. 62 cm e. Answer not known 
21nr.kP tpl;lkhf nfhz;l tl;lj;jpd; Rw;wsT fhz;f. 
a. 66 nr.kP  b. 33 nr.kP c. 65.94 nr.kP d. 62 nr.kP e. tpil njhpatpy;iy 
 

91. Find the surface area of a spherical ball of diameter 14 cm. 
a. 416 sq.cm.   b. 600 sq.cm.   c. 610 sq.cm. 
d. 616 sq.cm.   e. Answer not known 
tpl;lk; 14 nr.kP. msTila Xh; Nfhs tbt ge;jpd; Gwg;gug;igf; fhz;f. 
a. 416 r.nr.kP.  b. 600 r.nr.kP.  c. 610 r.nr.kP. 
d. 616 r.nr.kP.  e. tpil njhpatpy;iy 
 

92. A can do a work in 24 days. If A and B together can finish the work in 6 days; then B 
alone can finish the work in how many days? 
a. 10 days   b. 8 days   c. 6 days 
d. 4 days   e. Answer not known 
A vd;gth; xU Ntiyia 24 ehs;fspy; Kbg;ghh;. A kw;Wk; B MfpNahh; xd;whf ,ize;J 
xU Ntiyia 6 ehs;fspy; Kbg;gh; vdpy;> B vd;gth; jdpNa me;j Ntiyia vj;jid 
ehs;fspy; Kbg;gh;? 
a. 10 ehs;fs;   b. 8 ehs;fs;   c. 6 ehs;fs; 
d. 4 ehs;fs;   e. tpil njhpatpy;iy 
 

93. Carpenter A takes 15 minutes to fit the parts of a chair while carpenter B takes 3 minutes 
more than A to do the same work. Working together, how long will it take for them to fit 
the parts for 22 chairs? 
a. 55 minutes   b. 120 minutes  c. 160 minutes 
d. 180 minutes  e. Answer not known 
jr;rh; A Mdth; xU ehw;fhypapd; ghfq;fisg; nghUj;j 15 epkplq;fs; vLj;Jf; nfhs;fpwhh;. 

mNj Ntiyiar; nra;a jr;rh; B Mdth; jr;rh; A vLj;Jf;nfhs;Sk; Neuj;ij tpl 3 
epkplq;fs; $Ljyhf vLj;Jf; nfhs;fpwhh;. ,UtUk; ,ize;J Ntiyr; nra;J 22 
ehw;fhypfspd; ghfq;fisg; nghUj;j vt;tsT NeukhFk;? 
a. 55 epkplq;fs;  b. 120 epkplq;fs;  c. 160 epkplq;fs; 
d. 180 epkplq;fs;  e. tpil njhpatpy;iy 
 

94. Which one of the following is true? 
i. If A is a brother of B, then B is a brother of A. 
ii. If A likes B and B likes C then A likes C. 

iii. If A  B and B  C then AC. 
a. Both (i) and (ii)   b. (ii) only   c. All the three 
d. None of three   e. Answer not known 
gpd;tUtdtw;wpy; vJ cz;ik? 
i. A vd;gth; B d; rNfhjuh; vdpy; B vd;gth; A d; rNfhjuh;. 
ii. A vd;gth; B I tpUk;Gfpwhh;> B vd;gth; C I tpUk;Gfpwhh; vdpy; A vd;gth; CI 

tpUk;Gfpwhh;. 
iii. A  B, B  C vdpy; AC. 
a. (i) kw;Wk; (ii)   b. (ii) kl;Lk;   c. mdij;Jk; rhp 
d. vJTk; rhp my;y   e. tpil njhpatpy;iy 
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95. M is the daughter of N, O is son of N, also father of P, what is the relation between P and 
N? 
a. Grandmother  b. Mother   c. Aunt 
d. Sister   e. Answer not known 
M vd;gth; N d; kfs;> N d; kfd; O, kw;Wk; O, P d; mg;gh Mthh;> P kw;Wk; N d; njhlh;G 
vd;d? 
a. ghl;b   b. mk;kh   c. mj;ij 
d. rNfhjhp   e. tpil njhpatpy;iy 
 

96. Count the number 7 present in the 2 digit numbers. 
a. 10  b. 18  c. 19  d. 20  e. Answer not known 
<hpyf;f vz;fspy; tUk; ‘7’ vd;w vz;zpd; vz;zpf;if fhz;f. 
a. 10  b. 18  c. 19  d. 20  e. tpil njhpatpy;iy 
 

97. The difference between simple interest and compound interest for a sum of Rs. 8,000 lent 
at 10% p.a. in 2 years is 
a. Rs. 60 b. Rs. 70 c. Rs. 80 d. Rs. 90 e. Answer not known 
&. 8>000 f;F 10% tl;b tPjj;jpy; 2 Mz;Lfspy; fpilf;Fk; $l;L tl;bf;Fk; jdp tl;bf;Fk; 
cs;s tpj;jpahrk; 
a. Rs. 60 b. Rs. 70 c. Rs. 80 d. Rs. 90 e. tpil njhpatpy;iy 
 

98. Find out the wrong term from this series : 
89, 78, 86,80,85,82, 83 
a. 83  b. 86  c. 82  d. 78  e. Answer not known 
,e;jj; njhlhpYs;s jtwhd vz; vJ vdf; fhz;f? 
89, 78, 86,80,85,82, 83 
a. 83  b. 86  c. 82  d. 78  e. tpil njhpatpy;iy 
 

99. How many numbers are there between 300 and 600 which are exactly divisible by 7? 
a. 34  b. 43  c. 35  d. 44  e. Answer not known 
300 f;Fk; 600-f;Fk; ,ilNa 7-Mk; kPjpapd;wp tFgLk; vz;fs; vj;jid? 
a. 34  b. 43  c. 35  d. 44  e. tpil njhpatpy;iy 
 

100. If a clock strikes once at 1 O'clock, twice at 2 O'clock and so on, how many times will it 
strikes in a day? 
a. 48  b. 78  c. 156  d. 300  e. Answer not known 
xU fbfhuk; xU kzpf;F xU Kiw> 2 kzpf;F ,U Kiw> 3 kzpf;F %d;W Kiw 
vd;wthW njhlh;fpwJ. rhpahf xt;nthU kzpf;Fk; xyp vOg;Gk; vdpy; xU ehspy; 
mf;fbfhuk; vj;jid Kiw xyp vOg;Gk; 
a. 48  b. 78  c. 156  d. 300  e. tpil njhpatpy;iy 

 


